Cancer Code pvalue Hazard Ratio(95% Cl pvalue Hazard Ratio(95%CD
TCGA-GBMLGG(N=619) 19016 el 2.45(1.99,3.02) TCGA-GBMLGG(N=616) 6.3¢-16 i 11 233(191,2.85)
TCGA-LGG(N=474) 6.8¢-5 e 1.96(1.422.70) TCGA-LGG(N=472) 1.le-5 = ® - 1.90(1.43,2.52)
TEGALAME(N=200) 1583 L 28(1:10:1.50) TCGA-CESC(N=273) 3665 Y- 2.08(1.49.2.89)
TCGA-CESC(N=273) 728 et 1.85(1.14,212) TCGA-PCPG(N=168) 2163 Y be-e--d 2.56(1.40.4.65)
TCGA-BRCA(N=1044) 0.03 e 1.26(1.02,1.56) '
TCGA-HNSC(N=509) 003 ot 1.22(1.021.46) TCGA-UVM(N=73) 5.9¢-3 . (boOod 1.98(1.21,3.24)
TCGA-KICH(N=64) 005 l=--® == aa(105123) TCGA-KICH(N=64) 0.04 I= === == === 340(1.13,10.30)
TCGA-BLCA(N=398) 008 B 1.14(0.98,1.33) TCGA-ACC(N=T76) 0.07 Fea 1.29(0.98,1.70)
TARGET-LAML(N=142) 0.09 fe 1.27(0.97,1.66) TCGA-LUAD(N=486) 0.11 o1 1.12(0.98,1.29)
TCGA-UVM(N=74) 0.09 * e - 1.55(0.94,2.57) TCGA-STES(N=548) 0.13 1.15(0.96,1.38)
TCGA-KIRPN=276) 012 woe A 41(0.912:38) TCGA-ESCANN=173) 0.14 1.24(093,1.64)
TCGA-THYM(N=117) 0.12 h-e-- 1.87(0.854.13)
TCGA-PAAD(N=172) 015 el 128(091,1.78) [CGA-KIRD(N=013) 017 1.34(0.88,2.04)
TARGET-NB(N=151) 016 [ 139(0.88220) TCGA-BRCA(N=1043) 0.20 1.15(0.93,1.43)
TCGA-STES(N=547) 021 1.12(0.94,1.34) TCGA-PRAD(N=492) 029 1.19(0.86,1.65)
TCGA-LIHC(N=341) 026 1.10(0.93,1.30) TCGA-HNSC(N=508) 0.30 1.10(0.92,1.32)
TCGA-PRAD(N=492) 029 161(069,3.78) TCGA-UCS(N=55) 0.33 1.27(0.78,2.07)
TCGA-THCA(N=501) 0.35 1.52(0.64,361) TCGA-BLCA(N=397) 034 1.08(0.92,1.26)
:gxtgﬂ:‘?’;’ g':? :‘1’;(8:3:2‘;; TCGA-SARC(N=250) 035 1.10(090,1.34)
i) 045 TR, TCGA-LIHC(N=340) 0.35 1.07(0.93,1.23)
TCGA-UCS(N=55) 050 118(073.1.90) TCGA-SKCM-P(N=96) 0.39 i 1.12(0.86,1.47)
TARGET-WT(N=80) 0.60 1.13(0.71,1.81) TCGA-GBM(N=143) 044 "." -1 1.15(0.81,1.62)
TCGA-ACC(N=77) 0.61 1.08(0.80,1.45) TCGA-CHOL(N=33) 047 F '.. -4 1.17(0.76,1.79)
TCGA-GBM(N=144) 063 1.09(0.76,1.57) TCGA-DLBC(N=43) 0.51 l----®=----1 1.36(0.54,3.44)
TCGA-SKCM-P(N=07) 066 1.07(080,1.42) TCGA-PAAD(N=171) 054 - -l 1.11(0.80,1.53)
TCGA-PCPGN=170) o8t R 121(0433.78) TCGA-THYM(N=117) 0.60 1= ='e - - 1.14(0.70,1.85)
oo (S or3 te 108059.189) TCGA-THCA(N=499) 0.69 - - 1.10(0.68,1.80)
TARGET-ALL-R(N=99) 097 191 1.01(0.79,1.29) ) . ' RO
TCGA-DLBC(N=44) 099 1em g 101037.272) TCGA-KIPAN(N=845) 0.76 1.03(0.85,1.26)
TCGA-OV(N=407) 012 ] 0.90(0.79,1.02) TCGA-TGCT(N=126) 0.80 1.06(0.66,1.72)
TCGA-SKCM-M(N=347) 0.14 ol 0.83(0.74,1.04) TCGA-COAD(N=275) 0.90 1.03(0.67,1.57)
TCGA-KIRC(N=515) 018 1o 0.84(0.66,1.08) TCGA-MESO(N=82) 007 0.73(0.53,1.03)
TCGA-SKCM(N=444) 018 rot 0.90(077,1.05) TCGA-OV(N=407) 0.15 0.91(0.80,1.03)
TCGA-LUSC(N=468) 025 0:92(080,1.06) TCGA-SKCM-M(N=338) 030 0.93(081,1.07)
TCGA-TGCT(N=128) 0.26 0.30(0.04,2.43) o~ . .
s conermiGr) e b ) TCGA-KIRC(N=508) 044 0.90(0.70,1.17)
TCGA-MESO(N=84) 035 1o 086(0631.17) TCGA-READ(N=88) 047 0.77(037,1.57)
TCGA-UCEC(N=166) 037 P 0.84(057,1.23) TCGA-UCEC(N-166) 0.53 0.90(0.64,1.26)
TCGA-COAD(N=278) 045 L] 0.84(0.53,1.33) TCGA-LUSC(N=467) 0.54 0.95(0.80,1.12)
TARGET-ALL (N=86) 054 14 0.91(067,1.24) TCGA-STAD(N=375) 0.55 0.92(0.71,1.20)
TCGA-READ(N=90) 061 el el 081(035.1.85) TCGA-SKCM(N=434) 056 4 0.96(0.85,1.09)
TCGA-KIFRN(N=65%) ez 1ol 0560191.18) TCGA-COADREAD(N=363) 077 1-%-1 0950,
TCGA-SARC(N=254) 0.99 191 1.00(0.80,1.25) T T T T T T T T T
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CancerCode pvalue . Hazard Ratio(95%CI) __ CancerCode pvalue Hazard Ratio(95%CI)
TCGA-GBMLGG(N=598) 3.de-15 . [ 2.48(1.99.3.08) TCGA-CESC(N=171) 5804 el 270(1.62,4.49)
TCGA-LGGN=466) 27e4 te! 1.90(1.36.2.68) TCGA-PCPG(N=152) 41e3 Y- -l 5.91(1.64,2132)
TCGA-CESC(N=269) 0.02 "l 1.55(1.09,2.20)
TCGA-BRCA(N=1025) 0.06 el 1.31(0.99.1.75) TCGA-STES(N=316) 003 1.44(1.05,1.98)
TCGA-HNSC(N=485) 0.06 (B} 1.24(0.99,1.56) TCGA-ACC(N=44) 0.05 1.63(0.99,2.68)
TCGA-KICH(N=64) 0.06 pr--®---d 4.57(1.04,20.02) TCGA-PAAD(N=68) 0.07 2.04(0.944.42)
ECGEOYMNTZL) o 1.53(0.91,2.58) TCGA-ESCA(N=84) 0.12 1.52(0.89.2.59)
TCGABLCAN=385) 0.12 ACSELIY TCGA-KICH(N=29) 0.5 494(0.5842.40)
TCGA-KIRP(N=272) 0.16 1.52(0.85,2.72) TCGA-KIRP(N=177) 0.16 153(0.84,2.79)
TCGA-PAAD(N=166) 0.22 1.26(0.87,1.82) B b o
TCGA-PRAD(N=490) 023 1.98(0.72,5.42) TCGA-PRAD(N=337) 0.28 1.30(0.81,2.10)
TCGA-LIHC(N=333) 0.24 1.13(0.92,1.40) TCGA-GBMLGG(N=127) 032 1.51(0.67.3.41)
TCGA-SKCM-P(N=97) 028 121(0.86,1.70) TCGA-BLCA(N=184) 036 1.18(0.83,1.68)
TCGA-PCPG(N=170) 0.30 1.96(0.54,7.09) TCGAVSTAD(NZZXZ) 038 1.21(0.7&1.88)
TCGA-STES(N=524) 0.31 1.12(0.90,1.40)
TCGA-ESCA(N=173) 0.39 1.18(0.81,1.70) ICESTTCNE2S) 03 UL
TCGA-LUAD(N=457) 044 1.08(0.89.1.30) TCGA-LGG(N=126) 044 1.41(0.59.3.37)
TCGA-UCS(N=53) 0.58 1.15(0.71,1.86) TCGA-SARC(N=149) 048 1.10(0.84,1.45)
TCGA-THCA(N=495) 0.59 I=-ae-=--1 1.44(0.38,5.45) TCGA-LUAD(N=295) 0.54 1.07(0.86,1.33)
TCGA-SARC(N=248) 0.68 191 1.05(0.83,1.34) TCGA-CHOL(N=23) 0.64 1L1700,61,2.22)
LCGA-ACCN=75) 816 et L05077.142) TCGA-KIPANN=319) 0.6 101 1100.71,1.71)
TCGA-STAD(N=351) 0.80 1 l. 1 1.04(0.77,1.41)
TCGA-GBMN=131) oo - 1.02(0.68.1.54) TCGA-THCA(N=352) 0.66 FwH 1.17(0.58,2.37)
TCGA-CHOL(N=32) 0.94 b 1.02(0.65,1.61) TCGA-TGCT(N=101) 0.69 LA 1.13(0.62,2.08)
TCGA-KIPAN(N=840) 0.99 141 1.00(0.78,1.28) TCGA-BRCA(N=904) 0.72 (] 1.05(0.79,1.40)
TCGA-LUSC(N=418) 0.99 LAl 1.00(0.81,1.24) TCGA-UCEC(N=115) 0.77 | 1.09(0.62,1.89)
ICGAOV(NS3TR) 007 1ol 0.88(077;C01) TCGA-LUSC(N=292) 081 [ 1.03(0.79,1.34)
TCGA-SKCM-M(N=341) 0.10 L] 0.86(0.72,1.03) . o : b A "
TCGA-COADREAD(N=347) 0.14 [ 0.66(0.39,1.14) TCGA-MESO(N=14) 098 L01(0.53.1.92)
TCGA-COAD(N=263) 0.16 1= o -1 0.65(0.36,1.19) TCGA-READ(N=29) 0.04 hocooOoooal 0.08(6.9¢-3,1.04)
TCGA-SKCM(N=438) 0.23 IOll 0.91(0.77,1.06) TCGA-OV(N=203) 0.15 L] 0.84(0.67,1.06)
TCGA-TGCT(N=128) 024 I====- e == 1 0.29(0.03,2.37) TCGA-COADREAD(N=132) 030 1- -1 0.65(0.29,1.46)
[ o 11 fsiare TCGAHNSC(N-128) 046 1o 0.82(047,1.40)

A- (N= 2 50,1.23
TCGAMBSOMN=64) ] e OO TCGA-KIRC(N=113) 0.63 - .. =1 0.81(0.34,1.91)
TCGA-DLBC(N~44) I [ 0.800203.12) TCGA-COAD(N=103) 071 1-®-1 0.83(0.32,2.18)
TCGA-THYM(N=117) 0.80 LICICHC T 0.86(0.27,2.74) TCGA-DLBC(N=26) 0.76 Is===®====1 0.69(0.06,7.66)
TCGAREAD(N=84) 0.89 0.89(0.164.87) TCGA-UCS(N=26) 0.97 F-%-d 0.98(0.322.99)
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